
����� ��������� ��������� �������� ��� ���� ��� ��� ����

�������� �� ��� Z/2 ���������� �� ����� ���� ����� ��� ��� f : Sn → Sn ����������

f(−x) = −f(x) ��� �� ��� �������





����� ��������� ��������� �������� ��� ���� ��� ��� ����

�������� �� ��� ϕ ∈ Ck(X;R),ψ ∈ C l(Y ;R)� ����� δ(ϕ ∪ ψ) = δϕ ∪ ψ + (−1)kϕ ∪ δψ�
��� τ = [e0, . . . , ek+l+1] ∈ Ck+l+1(X)�



����� ��������� ��������� �������� ��� ���� ��� ��� ����

�������� �� ������� ��� ��������� �� ������ ������� H∗(Sn × Sn;Z) ��� n ���� ��� n
���� ��� ��� ����������

�� Hn(Y ;R) �� ���� ������� ��������� ����� ��� ��� n ��� (X,A), Y ��� �������������

����

× : H∗(X,A;R)⊗H∗(Y ;R) → H∗(X × Y,A× Y ;R)

�� �� ����������� �� ������ ������







����� ��������� ��������� �������� ��� ���� ��� ��� ����

�������� �� ����� ���� ����� �� �� �������������� �� ���� ����������� �������� ���������

������ �� ��� ������ Sn �� � ��� m : Sn × Sn → Sn ���� ���� ����� �� �� ������� 1 ∈ Sn

���������� m(x, 1) = x,m(1, x) = x�
����� ������� m∗ : H∗(Sn) → H∗(Sn × Sn)� �������� ���� ������





����� ��������� ��������� �������� ��� ���� ��� ��� ����

�������� �� ���� ������������� �� ��� ������� ������ ��� ��� ����� �� ����� ���� ������

��� ��� µ�� ������ ��� ����� µ �� ��� �� �����

H∗(X,A)⊗H∗(Y ) ��

µ

��

H∗(X)⊗H∗(Y )

µ

��

��
H∗(A)⊗H∗(Y )

µ

��

δ∗⊗id
��

H∗(X × Y,A× Y ) �� H∗(X × Y )

��
H∗(A× Y )

δ∗
��




